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1. ‘TR ® hiAE G g? 11. Choose the correct form of the verb—
(A) < wfy (B) gfg =fy Vimal .......... (play) cricket when I saw him.
(C) 71 |fy (D) =7 |ty (A) Played (B) Is playing
2. I9AH H o [-THT HHE §? (C) Was playing (D) Had played
(A) 55 "°E (B) stel el wA 12. Choose the correct model—
‘(C) E’CEE HHTE (D) =gsilTe HHTE You .......... wear helmet while driving a two
3. 'Uid’ SUE | HI-ET I TR ? wheeler.
Eg 95‘1{ g T (A) can (B) should
s qsta
, (C) must (D) would
4. ‘e RITE THT §?
(A) Wwﬁ %(‘B) el 13. Choose the correct passive voice of following
(C) T (D) o sentence—
5. ‘T’ vTea T yatTaTR v T Open the window.
(A) Tt (B) E&T (A) The window be opened.
(C) wrea (D) ¥t (B) Let the window be opened.
6. ' snfayia’ &t faag yres §— (C) The window should be opened.
(A) fauma (B) wfasfa (D) The window will be opened.
(C) fatsma (D) = 14. Choose the correct narration (Reported Speech)
7. ' STEl UET A S Weh | e 9T o T Wk vreg B — of following sentence—
(A) STT=R (B) ™= Vijay said to Mohan, “Where do you live?”
© o= (D) s1&™= (A) Vijay asked Mohan that I lived.
8. ﬁmﬁﬁaﬁwmg@ &7 (B) Vijay told Mohan that where he lived.
(A) (B) #HIc (C) Vijay asked Mohan where he lived.
fgr ;‘ ;z' o é%) ° ; 5‘; ta" (D) Vijay asked Mohan If he lived.
- (A) 7T 3 TErer (B)afw . 15. Fill the blanks with a verb in agreement with its
©) ; D) ’ FWI subject—
10 mﬁwaﬁtm,m%_ Rakesh .......... a doctor.
(A) Government (B) Gazetted (A) am (B) is
(C) are (D) None

(C) Grivience (D) Gradation
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17.

18.

19.

20.

21.

22.

23.

24.

25.

Choose the correct Pronoun—

She has a cow .......... gives ten litre milk.
(A) which (B) who

(C) whom (D) whose
Choose the correct conjunction—

| R Mukesh am absent.

(A) and (B) as well as

(C) although (D) thouse

Frame a question — ‘I can speak English.’

(A) Am I speak English?

(B) Can I speak English?

(C) What can you speak English?

(D) Can you speak English?

Make a question tag—

My sister can do it, .......... ?

(A) Isn’t she (B) can’t she

(C) doesn’t she (D) can’t he

Choose appropriate word for the group of the
words—

A person who knows everything.

(A) Theist

(C) centenarian

(B) omniscient
(D) polyglot
If the two dice are thrown simultaneously then
the probability of getting same number on both
the dice will be—
5 1
(M) (B) 3
1 5
©)¢ (D) 3¢
The median of the distribution 1, 3, 2, 5, 9 will
be—
(A)4 (B) 20
)5 (D)3
The volume of a cube which has a 6cm. Side will
be—

(A) 36 sq. cm (B) 216 cubic. cm

(C) 216 sq. cm (D) 72 cubic cm
The largest two digit prime number is—
(A) 19 (B) 93

() 99 (D)97

The 21st term of Arithmatic progression
3,6,9, 12,15 ... will be—

(A) 63 (B)73

(C) 93 (D) 65

26.

27.

28.

29.

30.

31.

32.

33.

34.
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What will be the value of TAN A if Cos A = g ?
(A (B 2
) )5

(©)

nlw Klwn

5
(D) 3

2

The shadow of a 6 m high wall at some point is 3

m long. What will be the angle of elevation of the
sun at that time?

(A) 30° (B) 45°

(C) 90° (D) 60°

If the perimeter of a square is 20 ¢m, then what
will be its area?

(A) 20 sq. cm (B) 25 sq. cm

(C) 25 cubic cm (D) 30 sq. cm

How much area of grass can a cow that is tied
with a rope 7 metres long in the grass field graze?
(A) 49 meters (B) 154 sq. meters

(C) 46 sq. meters (D) 98 sq. meters

The ratio of the four angles of a quadrilateral is
3:4:5: 6 respectively then the value of the
greatest angle of the quadrilateral will be—

(A) 60° (B) 90°

(C) 120° (D) 180°

In a certain code language VICTORY is written
as XGERQPA. How will KINDLE be written in
that language?

(A) MGPBNC (B) BEDRVH

(C) MGPFNC (D) SOWNEQ

How many Q’s are preceded by an even number
and followed by an odd number in the given
number series—
3825832832827848568784286

(A) Five (B) Four

(C) Three (D) Two

P is the father of Q and grandfather of R, who is
the brother of S. S’s mother T is married to V.
T is Q’s sister, then how is V related to P

(A) Nephew (B) Brother-in-law

(C) Son (D) Son-in-law

A bird flies 40 km towards North, then turns
towards East and travels 50 km, then turns
North, flies 110 km and truns to his left and flies
50 km. Where is he now from his initial position?
(A) 150 km South (B) 150 km North

(C) 70 km North (D) 70 km South
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35.

36.

37.

38.

39.

40.

41.

42.

Which of the following diagram correctly dipicts
the relationship between copper metal and iron?

(D «@
©C9 o)

How many triangles are there in the given figure—

(A)18 (B) 16
(©)8 (D)20
Which of the following options the alphabet is not
9 mirror image of the basic alphabet?
(AW B)X
oY D)z
Which of the following statements are correct
Only hardworking and intelligent candidates are
considered for a job.
‘Shikha is given this job’ Conclusion
I. Shikha is hard working
II. Shikha is intelligent
(A) Only conclusion I follows
(B) Only conclusion II follows
(C) Conclusion I and II both follows
(D) Neither conclusion I nor conclusion II follows
Choose the correct option from the given
alternatives for the statement (A) and reason (R)
given below Assertion
(A) Vaccines Prevent diseases
Reason (R): Vaccines should be given to children.
(A) Both A and R are true
(B) Both A and R are true but R is not the correct
explanation of A
(C) A'is true but R is false
(D) Both are false
If Sth June, 2021 was Saturday, then what day
will it be on 5th June 2022?

(A) Saturday (B) Sunday

(C) Monday (D) Tuesday

Which is called the ‘Bible’ of the French
Revolution?

(A) Social Contract (B) The Prince

(C) Politics (D) Das Captial

When did the ‘Russian Revolution’ take place
(A) 1925 (B) 1817

(C) 1917 (D) 1856

43.

44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

Which country was not included in the camp of
the Axis countries in the first world war?

(A) Poland (B) Italy

(C) Germany (D) Japan

When was NATO established?

(A) 1945 (B) 1939

(C) 1949 (D) 1942

The world’s largest ocean is—

(A) Pacific ocean (B) Indian ocean

(C) Atlantic ocean (D) North Pole ocean
Which scheme has been implemented for free
treatment up to Rs. 10 Lakhs to the general
public of Rajasthan in government and empaneled
private hospitals—

(A) Anugriti Yojana (B) Chiranjivi Yojana

(C) Kanyadan Yojana (D) Palanhar Yojana
Where was Rajiv Gandhi Rural Olympics-2022
inagurated by the Honourable Chief Minister in
Rajasthan?

(A) Pal Villate (Jodhpur)

(B) Santipura (Jalore)

(C) Jetpur (Pali)

(D) Pachpadra (Barmer)

Who is the Chief Secretary of Rajasthan at
present—

(A) Namrata Vrishni (B) Tina Dabi

(C) Usha Sharma (D) Arushi Malik

Avni Lekhara is related to which spart—

(A) Shooting (B) Horse Riding

(C) Discus Throw (D) Badminton

Jagdeep Dhankhar, the newly elected Vice-President
of India is related to which district of Rajasthan?
(A) Jaipur (B) Sikar

(C) Jhunjhunu (D) Nagaur

Who became the first woman tribal President of
India?

(A) Pratibha Singh (B) Meera Kumar

(C) Draupadi Dhankhar (D) Draupadi Murmu
Who is the current Railway minister of India?
(A) Rajnath Singh (B) Amit Sah

(C) Narendra Modi (D) Ashwini Vaishnav
Recently from which country in Kunu Sanctuary
Cheetahs were brought and released?

(A) South Africa (B) Namibia

(C) France (D) Ukraine

Which country has recently won the T-20 Asia
cup cricket by defeating Pakistan?

(A) India (B) Bangladesh

(C) Sri Lanka (D) Afghanistan
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57.

58.

59.

60.
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62.

63.

64.

Who is the present CM of Punjab?

(A) Yogi Adityanath (B) Arvind Kejriwal

(C) Nitish Kumar (D) Bhagwant Mann

Who was the Chairman of the drafting committee

of the Constitution Assembely?

(A) Dr. Rajendra Prasad

(B) Dr. Satchidanand Sinha

(C) Dr. Bhim Rao Ambedkar

(D) V.T. Krishnamachari

How many times has the preamble of the Indian

Constitution has been amended so far?

(A) Once

(B) Twice

(C) Three times

(D) Not even once, as it comes in the basic structure
of the Constitution

Who has the power to issue writs on the violation

of the Fundamental Rights of a person?

(A) Supreme Court only

(B) Only High Court

(C) Supreme Court and High Court Both

(D) President, Supreme Court and Hight Court all three

By which constitutional amendment the

undamental Duties were added to the Indian

Constitution?

(A) By 42nd Constitutional amendment

(B) By 44th Constitutional amendment

(C) By 52nd Constitutional amendment

(D) By 86th Constitutional amendment

From which country are the Directive Principles

of Policy taken in the India Constitution?

(A)England (B) France

(C)Ireland (D) America

The President’s Electorate consists of—

(A) Members of Lok Sabha

(B) Members of Rajya Sabha

(C) Members of Legislative Assembly

(D) All of the above

How many organs are there in the Parliament?

(A) Two (B) Three

(C) Four (D) One

Which of the following subjects in the concurrent

list?

(A) Education (B) Police

(C) Banking (D) Agriculture

By which constitutional amendment Panchayate

Raj was given constitutional status?

(A) 73rd (B) 74th

(C) 75th (D) 76th

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.
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Who has the power to amend the Indian
Constitution?

(A) To the Prime Minister and the Council of Ministers
(B) To the Supreme Court

(C) To the Parliament

(D) To the President on the advice of Prime Minister
Which was the first discovered site of the Indus
Valley Civilization?

(A) Mohenjodro (B) Dholavira

(C) Ganeriwala (D) Harappa

From which of the following Vedas Indian Music
is believed to be born?

(A) Rig veda (B) Sam veda

(C) Yajur veda (D) Athar veda

Where did Gautam Buddha give his first sermon
which is called Dharmachakra pravartan?

(A) Lumbini (B) Sarnath

(C) Vaishali (D) Shravasti

What was the childhood name of Mahaveer
Swami, the 24th Tirthankar of Jainism?

(A) Siddhartha (B) Vardhamana

(C) Rahul (D) Suddhodana

Which Mughal emperor ruled Delhi at the time
of the revolt of 1857?

(A) Alamgir 1T (B) Shahalam II

(C) Akbar II (D) Bahadur Shah-II
Which of the following is not correctly matched?
(A) Pandurang - Prarthana Sabha

(B) Dayanand - Arya Samaj

(C) Raja Rammohan Roy - Adi Brahmo Samaj

(D) Vivekanand - Ramkrishna Mission

Who was the author of ‘Gulamghiri’?

(A) Ambedkar (B) Mahatma Gandhi

(C) Periyar (D) Jyotiba Phule

Who among the following is popularly known as
Sher-e-Punjab?

(A) Rajguru (B) Bhagat Singh

(C) Lala Lajpat Rai (D) Udham Singh

Which of the following is not matched?

(A) Simon Commission - 1925

(B) Marley Minto Reforms - 1909

(C) Communal Award - 1932

(D) Surat Congress Partition - 1907

Which plan became the basis on Indian
Independence?

(A) Cripps plan

(C) Mountbatten plan

(B) Wavell plan
(D) None of the above
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86.

87.

Tropic of Cancer does not pass through which of
the following states?

(A) Uttar Pradesh (B) Madhya Pradesh

(C) Gujarat (D) Jharkhand

Which river is not part of the Bay of Bengal
drainage system?

(A) Mahanadi (B) Godavari

(C) Narmada (D) Kaveri

Galwan Valley was recently (2020) disputed
between India and China, Where is located—
(A) Ladakh (B) Arunachal Pradesh
(C) Sikkim (D) Uttarakhand
According to the 2011 census, which is the most
populous state of India?

(A) Uttar Pradesh (B) Madhya Pradesh

(C) Rajasthan (D) Maharashtra

Kolar mines [Karnataka] is famous for which
mineral

(A) Silver (B) Uranium

(C) Thorium (D) Gold

Jim Corbett National Park, India’s first National
Park is located in which state?

(A) Uttarakhand (B) Madhya Pradesh

(C) West Bengal (D) Gujarat

From which year was the tiger consevation
programme named ‘Project Tiger’ started?

(A) 1975 (B) 1983

(C) 1973 (D) 1978

Which city is called Manchester of India?
(A) Mumbai (B) Ahemdabad

(C) Jaipur (D) Lucknow

The oldest mountain range in the world is?
(A) Aravali (B) Himachal

(C) Himalaya (D) Vindhyachal

Which of the following is a non-conventional
energy source not there?

(A) Solar Power (B) Wind Power

(C) Bio Gas (D) Petrolium Gas

The Bank, controlling the banking system of the
country is—

(A) State Bank of India

(B) World Bank

(C) Reserve Bank of India

(D) Punjab National Bank

Which of the following is the poorest state of
India?

(A) Rajasthan
(C) Orissa

(B) Chhattisgarh
(D) Uttar Pradesh

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

Which sector contributes the most to India’s
GDP?

(A) Agriculture Sector

(B) Service Sector

(C) Industry and Manufacturing Sector
(D) None of the above.

The organization that publishes
Development Index is—

(A) UNO (B) UNDP

(C) IMF (D) World Bank
The Primary sector of Economy is not included
in—

(A) Agriculture (B) Animal Husbandary
(C) Mining (D) Trade

Ahar civilization is situated on th bank of which
river—

(A) Yamuna (B) Ayed

(C) Chambal (D) Luni

In Which district is the centre of Bagor civilization
situated?

(A) Jaipur (B) Bharatpur

(C) Udaipur (D) Bhilwara

The founder ruler of Chauhan Dynasty is—

(A) Vasudev (B) Arnoraj

(C) Someshwar (D) Prithaviraj II

The ancient name of Jaisalmer was?

(A) Mad (B) Hadoti

(C) Bagad (D) Shekhawati

In which district of Rajasthan is Kalibanga
situated?

(A) Sikar (B) Jaipur

(C) Sri Ganganagar (D) Hanumangarh

Who was the first Rajput ruler of Rajasthan to
accept Mughal Subjugation?

(A) Bhagwant Das (B) Bharmal

(C) Kalyanmal (D) Udai Singh

In which year Akbar’s famous ‘Nagore Darbar’
was organized?

(A) 1572 (B) 1578

(C) 1570 (D) 1672

Which of the folk deities are not included in the
five Pirs of Rajasthan?

(A) Gogaji (B) Pabuji

(C) Mehaji (D) Tejaji

Where is the main place of workship of Pabuji
located?
(A) Kolu
(C) Asind

Human

(B) Sandaria
(D) Lohavat
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100.

101.
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103.

104.

105.

106.

107.

108.

109.

110.

111.

112.

Dhanna was a disciple of:

(A) Kabir (B) Ramanand
(C) Pipa (D) Dadu

Who was the originator of Vishnoi Sect?
(A) Asnathji (B) Jambhoji

(C) Laldas (D) Kabir

Which sect was founded by Sant Mavji?
(A) Nishkalank (B) Alkhiya

(C) Laldasi (D) Ramsnehi

Where is the main centre of Sarvangi sect located
in Rajasthan?

(A) Harnava (B) Sangalia Dhuni

(C) Galtaji (D) Harsolao

In which district Bharathari’s fair is held?

(A) Alwar (B) Sikar

(C) Bundi (D) Udaipur

In Which month ‘Kajali Teej’ festival is
celebrated in Bundi?

(A) Shravan (B) Bhadrapad

(C) Chaitra (D) Falgun

When does Kapil Muni’s fair fill?

(A) Chairta Purnima

(B) Vaishakh Purnima

(C) Kartik Purnima

(D) Chaitra Shukla Ashtami

Which fair is called Kumbh of tribals?

(A) Beneshwar (B) Kaila Devi

(C) Bharathari (D) Pushkar

The temple of which goddess is known as the
‘temple of rats’?

(A) Jeen Mata (B) Kaila Devi

(C) Karni Mata (D) Sheetla Mata

On which date is Abuj Sawa considered?

(A) Vaishakh Krishna Dwitiya

(B) Ashadh Shukla Navami

(C) Vaishakh Shukla Tratiya

(D) Chaitra Purnima

Theva Kala is related to which district?
(A) Pratapgarh (B) Udaipur
(C) Churu (D) Jhalawar

What is the insertion of gold nail between the
teeth called?

(A) Chump (B) Bari

(C) Borla (D) Damana

Where do women wear Tulsi, Pot, Hamel etc.
ornaments in Rajasthan?

(A) Nose (B) Ear

(C) Throat (D) Head

113.

114.

115.

116.

117.

118.

119.

120.

121.

122.

123.

124.

125.

126.

127.
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What colour is ‘kasumal’?
(A) Green (B) Black
(C) White (D) Red
‘Ajarakh Print’ is famous of which district?
(A) Pali (B) Barmer
(C) Jodhpur (D) Bhilwara

Which place is famous for ‘Tarakashi’ for silver
ornaments?

(A) Nathdwara (B) Khandela

(C) Shahpura (D) Sanganer
‘Bani-Thani’ is related to which painting style?
(A) Kishangarh (B) Kota

(C) Marwar (D) Chavand

The painting style giving importance to birds is—
(A) Bundi (B) Chavand Style

(C) Jaipur Style (D) Deogarh Style

With which goddess is Sanjhi related?

(A) Sita (B) Durga
(C) Usha (D) Parwati
Mangilal Mistry’s area of fame is—
(A) Ravan Hattha (B) Kavad
(C) Pungi (D) Shahnai
Sojat is famous for?

(A) Jaggery (B) Blanket
(C) Kavad (D) Mehandi
Where is the famous folk of drama ‘Charbait’?
(A) Dausa (B) Tonk
(C) Jaisalmer (D) Kota

On which occasion ‘Kutchi Ghodi Dance’ is

performed?

(A) Holi (B) Vivah

(C) Teej (D) Navratri

‘Tamasha’ is the famous folk drama of Where?
(A) Bharatpur (B) Sikar

(C) Jaipur (D) Pratapgarh

Which is the famous dance of the Garasias of
Sirohi region?

(A) Valar (B) Bhavai

(C) Terahtali (D) Ghoomar

‘Rangoli’ and ‘Nimadi’ are sub-dialects of which
dialect?

(A) Mewati (B) Malavi

(C) Wagadi (D) Mewari

Where is Sunhari Kothi situated?

(A) Tonk (B) Bundi

(C) Kota (D) Jhunjhunu

In which district ‘Rankapur Jain Temple’ is situated?
(A) Sirohi (B) Pali

(C) Rajsamand (D) Jalore
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128. Where is the Chhatri of 84 pillars located?
(A) Alwar (B) Churu
(C) Sikar (D) Bundi

129. What is the height of the highest peak of the
Aravali ranges?

(A) 1848 m (B) 1722 m
(C) 1646 m (D) 1764 m
130. Which is the largest riverine division in
Rajasthan?
(A) Kota (B) Jodhpur
(C) Jaipur (D) Udaipur
131. In how many phases was the integration of
Rajasthan completed?
(A) Five (B) Six
(C) Seven (D) Eight
132. Who is the constitutional head of the state executive?
(A) Prime Minister (B) Governor
(C) Cheif Minister (D) President
133. Which river flows completely in Rajasthan?
(A) Chambal (B) Luni
(C) Mahi (D) Banas
134. What is the length of the international border with
Rajasthan?
(A) 1085 Km (B) 1070 Km
(C) 6516 Km (D) 9516 Km

135. Under which article of the Constitution the

Governor is appointed?
(A) 153 (B) 154
(C) 155 (D) 156
136. Who discovered the electron?
(A) Rutherford (B) Niles Bohr
(C) 1.J. Thomson (D) Chadwick
137. Which metal is found in liquid state at room
temperature?
(A) Mercury (B) Copper
(C) Iron (D) Zinc
138. Which acid is present in milk?
(A) Tartaric acid (B) Lactic acid
(C) Citric acid (D) Formic acid
139. Who gave the binomial system of naming
organism?
(A) Ernest Heckel (B) Robert Whitaker
(C)Carl Vas (D) Carolus Linnaeus

140. Which cell organelle is called the ‘power house
of the cell’?
(A) Lysosome (B) Mitochondria
(C) Ribosomes (D) None.

141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

In which reproductive system of human fallopian
tube is found?

(A) Female reproductive system

(B) Male reproductive system

(C) Both

(D) None

When the tree is shaken, its fruits start falling
apart. On which law of motion is it based?

(A) First law of motion

(B) Second law of motion

(C) Third law of motion

(D) None

On which phenomenon of light is the twinkling of
stars based?

(A) Reflection

(B) Refraction

(C) Scattering

(D) None of the above

The SI unit of electric current is:

(A) Newton (B) Ampere

(C) Pascal (D) Joule

Who is the father of ‘Genetics’?

(A) Gregor John Mendeley

(B) Bateson

(C) V. Breece

(D) Von Shermack

The full name of IC used in the third generation
computer is:

(A) Internet circuits

(B) Integrated circuits

(C) Input circuits

(D) International circuits

Which is not an input device:

(A) Key-Board (B) Mouse

(C) Monitor (D) Scanner

Which of the following is correctly matched pair?
(A) ctrl +z=undo (B) ctrl +x = cut

(C) ctrl + ¢ = copy (D) All of the above

The programme language of the computer is:
(A) C (B) C ++

(C) Java (D) All of the above

The full name of www is:
(A) World Wide Web

(B) World With Web

(C) World Wide Work

(D) World Without Web

aaa
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